
1) An amount was increased by 5% to 
$58.74. Find the original amount.

Answer: ____________

2) An amount was increased by 5% to 
$496.00. Find the original amount.

Answer: ____________

3) A number was shared in the ratio 
50:25. The larger share was 8. What 
was the smaller amount?

Answer: ____________

4) Share 35 in the ratio 4:31

Answer: ____________

5) Share 34 in the ratio 8:26

Answer: ____________

6) Simplify 40:34

Answer: ____________

7) Find the percentage change from 60 to 
30

Answer: ____________

8) Find the percentage change from 37 to 
62.9

Answer: ____________

9) An amount was increased by 2.1% to 
$458.00. Find the original amount.

Answer: ____________

10) Simplify 6:32

Answer: ____________

Total: ___ / 10
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Answers:

1) $55.94 2) $472.38 3) 4 4) 1 : 34 5) 1 : 33 6) 20 : 17 7) -50%

8) 70% 9) $448.58 10) 3 : 16
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